Discuss the Ideas 1.

8.

10.

1

what does a" represent?

When a is a rational number and # is a natural number,

2. When ais a rational number and m and # are natural numbers,
m

what does a” represent?

Exercises
| A |

3.

Evaluate each power without using a calculator.
1 1 1

a) 167 - b) 36 o) 64
N N 4

d) 32° e) (—27)° f) (—1000)°
Evaluate each power without using a calculator.
a) 1009° b) 8102
c) 102402 d) (—32)02

. Write each power as a radical.
N 1 1
a) 36° b) 482 c) (—30)°
Write each radical as a power.
a) /39 b) 90
c) 329 d) 100

Evaluate each power without using a calculator.
1 2
b) 8’ c) 8’
5
e) 8

a) 8°

3 5
d) 8’ f) 8°

Write each power as a radical.
2

a) 4

3

b) (—10°  ¢)2.32

. A cube has a volume of 350 cm®. Write the edge

length of the cube as a radical and as a power.

Write each power as a radical.

£ o 3\ 25
a) 48° b) (-1.8)° o (g)

2
d) 075075 e) <—§)5

f)1.25'

1

12.

13.

14.

15.

16.

Write each radical as a power. -
5

2) 3.8° b) (157 o i/@

d)aj(%i)‘1 e) (\EY f)Y(-25)

Evaluate each power without using a calculator.

3 2 2
a) 92 b) (%)3 Q) (=27 .

¢ (64  f) (%)1

Write an equivalent form for each number

d) 0.36'°

1
using a power with exponent > then write the
answer as a radical.
a)2 b)4 «¢)10 d)3 e)5

Write an equivalent form for each number

. . 1 :
using a power with exponent 3 then write the
answer as a radical.

ay—1 b2 ¢3 d—-4 e4

Arrange these numbers in order from least to
greatest. Describe your strategy.

3
= 1
Va4, 4%, 4, (Z)

a) Evaluate.
1) 161.5
iii) (—32)°8

b2 | W

11) 810.75
iv) 35093

v <Z>o.6

b) Which powers in part a could you have
evaluated without a calculator? How can

v) 1.2115

you tell before you evaluate?

227

4.4 Fractional Exponents and Radicals
{




8. Areas of squares may vary. For example:

a)
T Area: 1.44m? T
0 .
b)
T Area: 8 cm? T
. i
9. a) 35 b) 2312
c) Cannot be simplified d) 243
e) 2310
11. a) /63 b) 32
c) 147 d) 3192
e) 270 f) /396
4.4 Fractional Exponents and Radicals, page 227
3.a)4 b) 6
c) 4 d) 2
e) -3 f) -10
4.a) 10 b) 3
c) 4 d) -2
5. a) 36 b) 48
c) ¥-30
I 1
6. a) 39?7 b) 90*
L i
c) 29° d) 100°
7.a) 1 b) 2
c) 4 d) 8
e) 16 f 32

8. a) 3/:1;, or (Q/Z)z
by {(-10)", or (¥/-10)
c) «/2.?, or («/53)3

|
9. 350 cm, 350° cm

488 ANSWERS

f) Cannot be simplified

10.

1.

12.

13.

14.

15.

16.

17.
18.
19.

a) 348 ,or (348)
b) Y(-1.8)",or (3—1 8)
()
c) =1 ,or|,/[=
8 8
d) 4075 ,or (4/0.75)3 )
( 5Y K ]
e) st ——| ,or|3—
9 9
f V125, or (\/1.25)3
3 ) 2
a) 3.8%,0r 3.8 b) (-L.5)
oV [(9)* 3 /
c) (=| ,or|= d) |-
5 5 8
5 % 5 L5 3
e) (Z) ,or [Z) f) (-2.5)5,or'(-2.5)"
9
a) 27 b) =
) ) S
c) 9 d) 0.216
8 /
e) 16 —
) N s
1 1
a) 42, V4 b) 167, Vi6
1 i
c) 1002, V100 d) 92,9
1
e) 252,425
1 L
a) (-1)7, ¥-1 b) &, 8
1 L
c) 27%, Y27 d) (-64), 3-64
i
e) 647, Y64
3
Hz’ Vi, e
il
a) i) 64 ii) 27
iii) 16 . iv) 5.9160...
v) 1331 vi) 0.8414...
b) i, ii, i, v
Approximately 76 m i
2.744
Approximately 1.3 m®




